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Name: __________________________________



1
Which expression is equivalent to [image: image1.png]


?
	1)
	[image: image2.png]




	2)
	[image: image3.png]




	3)
	[image: image4.png]




	4)
	0



2
Which expression is equivalent to [image: image5.png]


?
	1)
	[image: image6.png]




	2)
	[image: image7.png]B





	3)
	[image: image8.png]S





	4)
	[image: image9.png]






3
The expression [image: image10.png](2a)™



 is equivalent to
	1)
	[image: image11.png]84"





	2)
	[image: image12.png]




	3)
	[image: image13.png]




	4)
	[image: image14.png]164"







4
The expression [image: image15.png](3c)7



 is equivalent to
	1)
	[image: image16.png]_6c





	2)
	[image: image17.png]




	3)
	[image: image18.png]




	4)
	[image: image19.png]






5
Which expression is equivalent to [image: image20.png]


?
	1)
	[image: image21.png]




	2)
	[image: image22.png]_3x°





	3)
	[image: image23.png]




	4)
	[image: image24.png]gy







6
Which expression is equivalent to [image: image25.png](522 by



?
	1)
	[image: image26.png]1op*





	2)
	[image: image27.png]asb*





	3)
	[image: image28.png]255%





	4)
	[image: image29.png]1256°







7
Which expression is equivalent to [image: image30.png]


?
	1)
	[image: image31.png]




	2)
	[image: image32.png]




	3)
	[image: image33.png]




	4)
	[image: image34.png]






8
The expression [image: image35.png]


 is equivalent to
	1)
	[image: image36.png]




	2)
	[image: image37.png]




	3)
	[image: image38.png]o R,





	4)
	[image: image39.png]a2p!







9
Which expression is equivalent to [image: image40.png]


?
	1)
	[image: image41.png]




	2)
	[image: image42.png]




	3)
	[image: image43.png]3ty





	4)
	[image: image44.png]
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Which expression is equivalent to [image: image45.png]


?
	1)
	[image: image46.png]S





	2)
	[image: image47.png]et





	3)
	[image: image48.png]B





	4)
	[image: image49.png]|
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If [image: image50.png]


 and [image: image51.png]


, what is the value of the expression [image: image52.png]


, when [image: image53.png]c# 0



?
	1)
	0

	2)
	[image: image54.png]




	3)
	[image: image55.png]2e





	4)
	[image: image56.png]






12
The expression [image: image57.png]-3~ 5x+2




  can be rewritten as
	1)
	[image: image58.png]-3x-3
x+2x






	2)
	[image: image59.png]“3x-1






	3)
	[image: image60.png]




	4)
	[image: image61.png]3x7lyx?
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Which equation is equivalent to [image: image62.png]10"




?
	1)
	[image: image63.png]




	2)
	[image: image64.png]10






	3)
	[image: image65.png]




	4)
	[image: image66.png]
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If n is a negative integer, then which statement is always true?
	1)
	[image: image67.png]< 4n





	2)
	[image: image68.png]




	3)
	[image: image69.png]< 4n





	4)
	[image: image70.png]dn~t > (6m) 7
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Express [image: image71.png]12575
a7%y*




 in simplest form, using only positive exponents.

16
Simplify the expression [image: image72.png]


 and write the answer using only positive exponents.

17
Given that [image: image73.png]


, where [image: image74.png]y =0



, determine the value of n.


1
ANS:
1
REF:
010511a

2
ANS:
2
REF:
080119a

3
ANS:
4
REF:
061402a2

4
ANS:
3
[image: image75.png]



REF:
060826a

5
ANS:
1
REF:
011402a2

6
ANS:
2
[image: image76.png]



REF:
011514a2

7
ANS:
1
REF:
061324a2

8
ANS:
1
REF:
fall0914a2

9
ANS:
1
REF:
061210a2

10
ANS:
4
REF:
061506a2

11
ANS:
4
[image: image77.png]



REF:
061621a2

12
ANS:
4
[image: image78.png]-3l -5x+2 (34 D+ “ix,
et Px+2)





REF:
061723aii

13
ANS:
3
REF:
019515siii

14
ANS:
3
[image: image79.png]


.  Flip sign when multiplying each side of the inequality by n, since a negative number.
REF:
061314a2

15
ANS:

[image: image80.png]



REF:
011731a2

16
ANS:

[image: image81.png]


.  [image: image82.png]aty ey pey™ 1’
T = = Ty





REF:
061134a2

17
ANS:

[image: image83.png]


  [image: image84.png]



REF:
082228aii


